Mathematics
Arithmetic: Test 5
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Key Stage 2: arithmetic paper 5

1 | 212+ 100 =
2 | 639-100 =
3 | 372+600=
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4 | 482-50-=

5 88 x b6 =

6 | 76+4=
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q | 4767 + 1000 =
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10 | 3889-1000 =

11 | 4501 + 3529 =

12 | 6728 -734 =
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13 | 7x8=

14 | 7x3x6=

15 | 986 x 2 =
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16 | 902 x7 =
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19 | 6.03+0.07 =

20 | 79-06=

21 | 38+ 100 =
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22 | 95+ 10=
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24 | 58+ 3.67 =
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Answer Sheet: Key Stage 2: Year 4: arithmetic test 5 w

Guidance: Children will have 30 minutes for this test.

question answer marks question answer marks
1 312 1 22 9.5 1
2 539 1 23 18 1
3 972 1 24 9.47 1
4 432 1 Total 24
5 528 1
6 19 1
7 1 1
8 % or % 1
9 5767 1
10 2889 1
11 8030 1
12 5994 1
13 56 1
14 126 1
15 1972 1
16 6314 1
17 1 1
18 % or % 1
19 6.1 1
20 73 1
21 0.38 1
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